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Hinty

lim
x→0

sinx

x
= 1

lim
x→0

tan x

x
= 1

lim
x→0

1− cosx

x2
=

1

2

lim
x→0

arcsin x

x
= 1

lim
x→0

arctan x

x
= 1

lim
x→∞

x arccot x = 1

lim
x→1−

arccos x√
1− x

=
√

2

Př́ıklady

1. Spočtěte limity zadaných funkćı

(a) lim
x→0

sin 5x

x

(b) lim
x→0

sin 3x2

x2

(c) lim
x→0

tg x

x

(d) lim
x→0

x4

1− cos 4x2

(e) lim
x→0+

tg
√
x√

2x

(f) lim
x→0

√
1− cosx2

1− cosx

(g) lim
x→∞

arcsin
1− x
1 + x

(h) lim
x→0

ln
( x

sinx

)
(i) lim

x→∞
arccos (

√
x2 + x− x)

(j) lim
x→0

x cotg 3x

(k) lim
x→∞

sinx

x

(l) lim
x→0

tg x− sinx

sin3 x

(m) lim
x→0

sin 5x− sin 3x

sinx

(n) lim
x→0

cosx− cos 3x

x2

(o) lim
x→π

4

tg 2xtg
(π

4
− x
)

(p) lim
x→a

sinx− sin a

x− a

(q) lim
x→π

6

2 sin2 x+ sinx− 1

2 sin2 x− 3 sinx+ 1

(r) lim
x→0

√
1 + tg x−

√
1 + sinx

x3

(s) lim
x→0

x2√
1 + x sinx−

√
cosx

(t) lim
x→π

sinmx

sinnx
, kde m,n ∈ N

(Hint: použijte ”substituci” y = x− π.)

(u) lim
x→∞

arctan x

arccot x
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Zkouškové př́ıklady

2. Spočtěte limity zadaných funkćı

(a) lim
x→0

sin(tan x)

arctan (arcsin x)

(b) lim
x→0

1− cos(arctan x)

x2

(c) lim
x→∞

x5/2arcsin (
√
x5 + 1−

√
x5 − 1)

(d) lim
x→ 3π

2

(4x2 − 9π2)
cosx

1 + sinx

(e) lim
x→∞

arctan (
√
x2 + sin2 x−

√
x2 − cos2 x)√

x2 + 2−
√
x2 + 1

Figure 1: https://mathjokes4mathyfolks.wordpress.com/tag/limits/
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